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OR(37214T)
What is the difference between dynamic viscosity

and kinematic viscosity.

SIATNS® AT R dIAfed ™=dar ©
< Iax wT B ?

8. Explain various head losses in the flow through a

pipeline.

U UISUClzd & AredH 9§ ydrs 9 fafr=
M & JHaE B a7 W |

OR (3121an)

Calculate the specific weight, specific density,
specific volume and specific gravity of 1 litre of

petrol which weight 7 N.

1 offex dgtd forger au<1 7N 2 al, faflkrse
R, falrse g9a, fafdrse smad+ 3k fafdrse
[ocd I IO DY |
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Time : 3Hrs. Sem - I1I-C
Hyd. & FM

Full Marks : 80
Pass Marks : 26

Answer all 20 questions from Group A, each question
carries 1 marks.
Ju-A ¥ afl 20 ¥ B SR T, IAP U BT 9F 1 352 |
Answer all Five questions from Group B, each question

carries 4 marks.

9B & @t ufg ueal & IR <, UAS U & 9H 43 2 |

Answer all Five questions from Group C, each question

carries 8 marks.

7u-C & wift ufg gl & SR <, IS U & 99 § b 2 |

All parts of a question must be answered at one place in
sequence, otherwise they may not be evaluated.
TP Ued & 9 39T BT SR TP &) S8 (AR HH H)

BT A1y, =92 4 Sifd -8l oI 9ad 2 |

The figure in right hand margin indicate marks.
¥ ursd @ e QUile & qad 2 |
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OR (31214T) Gy 9RE & AR g fFas sRo 4@
Explain Reynold's number. MdrbR Hfa yra gidl € ?
(a1) fRrafaurge
e G&UT B AT &N | g))a%mw
(%) g T

5. Calculate the bulk modulus of elasticity of fluid that
has a density increase of 0.003% for a pressure (iii) - Surface tension has the dimension

2
increase of 35 KPa ? s EE)) hl\//III,ETZ

(c) MLT"!
35 KPa @I <919 gfg @ foIg 0.003% &1 (d) ML2T"!

O gig 9l <9 @1 did @ P AUiD (i) USS I D JATATH B |
@Y TOET B | (31) MLT?

() MT?

(&) MLT!

OR(gieren) () ML>T"!

(iv)  Select the correct statement.
(a) Gage pressure = Atmoshpheric pressure
) + Vacuum pressure
YSS THId B ATEAT @ | (b) Absolute pressure = Gage pressure -
Atmospheric pressure
(c) Gage pressure = absolute pressure -
Atmospheric pressure
(d) Gage pressure = Atmospheric -Vacuum

s g #iey & o 3 = a | pressure

Explain surface tension.

6. Explain the function of an orfice meter.
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xx)  Ifl & B & ITUR, Ub ST
b HIEgH 9 YdIg &I 9 59D gRT
gReféra grar 2 |

@) V=mveci
(@) V=i ymc
(&) V=c'Vmi
(8) V=cmi

GROUPB

Answer all Five Questions.

gl uig g3 & SN < |

4x5=20

2. Write the characteristics of a fluid.

Up dxd uyeref @ fagivdaen = ford |
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(vi)

(vii)

(vii)

(viii)
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EHIT SBTd BT g

(31) [oATHHT B b D WA HA
1T 2 |

(@) fazenfua azxa ugref @) /=T ®
Pad © A1 A @rdl 2 |

(@) TEAHYY & BT W SUN Y&l B |

() To@rdyYl & bg B A BT 2 |

Which of the following is used to measure
the discharge ?

(a) Current meter

(b) Hot wire anemometer

(c) Pitot tube

(d) Venturimeter

freaRer ®f "uA & forg f=fafRaa &
A feaer Sy fear smar @ ?

(31) avT Hex

(@) ™ arR whEeR

(|) diee et

(]) dcifieR

When a body floating in a liquid, is displaced
slightly, it oscillates about.

(a) C.G. of body

(b) Centre of pressure

(c) Metacentre

(d) Centre of buoyancy

P.T.O
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(xvi)

(xvii)

(xvii)

(xviii)
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A1 (d) Bl UH JATbR YIS & g
BIssifad ¥5g TExTs 2 |

(@) d/6

(@) d/4

(|) d/2

(?) d

A hydraulic pump is device which converts.
(a) Mechanical energy into hydraulic energy
(b) Electric energy into mechanical energy
(c) Hydraulic energy into mechanical energy
(d) All of the above

glsgifald U9 Uh SUSRYT 2 ol
gfRafedfa exar 21

@) ¥ifye Sol &1 sggifas Sl d
@) faga st &1 A SHoi 9

(A) sssifas Sol & Aifed Sl §
(?) R @ 9+

Reaction turbine may be
(a) Radial flow turbine
(b) Axial flow turbine
(c) Mixed flow turbine
(d) All of the above

O0T3008

x)

(xi)

(xi)

(xii)

7 15304

AR @ yarg & wrTel A <919 ofid
&1 &d gaTuTct gar 2 |

(an) rfar

@) (i)’

(W) (rfr)’

() (rf)’

A pressure of 25 m head of water is equal to
(a) 25 KN/m’

(b) 245 KN/m’

(c) 2500 KN/m”

(d) 2.5 KN/m’

gt @ 25m ¥ &1 g91@ RGBT 2|
(31) 25 KN/m’

(@) 245 KN/m’

(|) 2500 KN/m’

() 2.5 KN/m’

According to Bernoulli's equation.
(a) Z + P/W + V?/2g = constant
(b)Z +P/W - V?/2g= constant
(¢) Z - P/W + V?/2g = constant

(d)Z -P/W -V?/2g = constant

P.T.O
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9.

10.

Explain different type of channel.

faftr=1 YR & Ao B AT DY |

OR (3721d)

Differentiate between impulse turbine and reaction
turbine.

ATAT X413 IR yfafrar ez @ €=
3R 9dIV |

Write short note on Differential Manometer.

AR AR W oY e fad |

OR (3121a1)

Calculate the size of pipe which has to discharge

an oil, at the rate of 2 m/s and of specific gravity
0.8 with a velocity of 3m/s.

ISy @ DR DI AT B, ol fb 2m'/s
B X 9 X 3m/s D AT b A1 dd Bl
foreaRor ovar 2| e fafdse 1o 0.8 21
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9.

10.

Explain different type of channel.

faffr=1 9eR & Ao B ARAT B |

OR (3721dT)

Differentiate between impulse turbine and reaction
turbine.

TAT exaTsA IR gfafspar cxarsa @ =
3aR qdy |

Write short note on Differential Manometer.

Jax AR R a9 e fad |

OR (312141)

Calculate the size of pipe which has to discharge

an oil, at the rate of 2 m’/s and of specific gravity
0.8 with a velocity of 3m/s.

ISy @ IATHR B 0T B, Sl fb 2 m'/s
@I X 9 X 3m/s D AT D AT dd Bl
freavor oar 2 | e fafdre 6@ 08 2
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